17.02.2023

dams.=

0151 548 7111 www.dams.com

Enable Tables

Assembly
Instructions



5mm Allen key provided

1=

AT19INISSY HO4
@mm_:Omm S1001

14171 NVIN ¢

3790NHLS INOA

34VO HLIM SN LI

ATANVH SAVM1V

JONVLSISSY HO4
11VO 3HNSNN 4dI




=)

CORNER LEG

Assembly instructions

Pre-assemble

/MB Screw Cap

Grub Screw

Pre-assemble an M8 grub screw into each of the
M8 cap screws supplied.

Pass the M8 grub screw/cap screw assembly
through the connecting bracket and leg.

Screw another cap screw onto the rear of the
grub screw - leave loose at this stage.

Repeat for all other bolts in the assembly.

When all bolts are in place, tighten sequentially
to complete the assembly.

To connect the le%s to a top, it would be best for
the top to be on the floor and then fix in place
with the Mé x 15 connector bclts supplied.




=2

INTERMEDIATE LEG

Assembly instructions

Pre-assemble

Pre-assemble an M8 grub screw into each of the
M8 cap screws supplied.

Pass the M8 grub screw/cap screw assembly
through the connecting bracket and leg.

Screw another cap screw onto the rear of the
grub screw - leave loose at this stage.

Repeat for all other bolts in the assembly.

When all bolts are in place, tighten sequentially to
complete the assembly.

To connect the legs to a top, it would be best for
the top to be on the floor and then fix in place
with the Mé x 15 connector bolts supplied.




=3

FRAME

Assembly instructions

Corner leg
Connection

clip over the
tube & localed
central with the
hole,

* Assemble the legs & rails on the floor like above.
* Align the rails at each leg connection.

Intermediate Leg
Connection

* Pass the M8 connector cap through the front of
the leg bracket and rail. Insert the M8 x 30 socket screw
into the rear of the rail and tighten sequentially.

* Turn the frame work over, locate the table top inte position
and secure in place with Mé x 15 connector bolts through the
leg brackets and Mé x 50 connector bolts through the rails.



